0.4x+0.5y=1.1

SERE Ry {2 &z
?(2x+y)=2
® (-4, —1) @ (-4, 1) @ (-1, 3)
@@ -1 ® (4, 1)
B
04x+05y=11 ---@
{%(2x+y)=2 O
DO x10, @ x 7 54,
{4x+5y=11---®
dx+2y=14---@
®-@E 34,

x=4, y=-10°]|t},




AERE B Hat

1

—

7} A

=

1248 y = —2x + 2 9] 12

[e]

B B OB
| I | R
< Xl
Ul ul ol

yl\




UM A 3x 4 2y = 6 O] TP $Jo] = HS
o, ab ] g F-5tofzt.

o

>
> ®Met: 6

oH- =

ol
L

(a,0), (0,b) 2t &

B

3x+2y =6 °l (4,0), (0,b) = Z+2 sk
3a=6, a=2

26=6 , b=3

s.ab=6




4. x y7hARALL W, QAT 142y = 6 O] = BF H AN

© 1% @2%} ®3% @4% Os%

(4, 1), (2, 2)




@x: -1,y

DO x=1y=2

@ x=1y=-2

-1

®x=-2,y

®x=2y=1

o a, bE HFLH

ax+ by =2

ax—by =26

£ i

x=1,y=2

b+2a=2

= =2

_]_’ y

By
H

=




@ 7} 243wt
® 1742 97} et
® 14| 37} 9t

x—y=3 3x—y=1
DI S y
2x -2y = 6x =2y 42
2x+y= x=y+3
R Ol
X+y= 2x -2y =
X+y=
® y
x=2y=0
5 WA 0 Bl A| 48] A 247 P Aol the o o)
glek.
x=y+3---Q _
e @ ¢ 2% @ = O} A5 ot
2x—2y=5---©
o2 7t gk
® 7 543 B,




AR y = ax +2 & 2T F A (1,1),(3,0) E AL

i, ab 2| gk& -5tofz=t.

on

P

ok

y=ax+2°l (1,1) Y
l=a+2, a=-1
y=-x+2¢ (3,p) Y
b=-3+2=-1,b=-1
ab= (~1)x (<1) = 1




<«

__OE

T

oo

= 2uHsle EA7T

T

ol

o
o <
oy = =2

<t o0
oA
s =
2 R <+
——N— —

~ o~ o~ o~
b | | | A |
& & & & &
T+t

e e s T
VN < &N < oo

4 4y =1
rojeapm { T
2x+8y =1

O
=

Far, A1) o

2 yets

99

—

o

ol
!

,_HH




ol 2]ubg 4] { T g wEstE x o)y o) gre] Hlgt

@ 2 @ 5 @8 @ 11 ® 14

x:y=3:19°4 x=3y

x =3y & @] didstd
6y—3y=6 .. y=2, x=6
(6, 2) & @Al didstd
18-10=8 .. k=8




o7 AHAAE B 2 Al A 5 & Fol
o U7t 522 B Al 30km & e A
obsZ Ttth ojmUs 2] # Z Fof ob5S Tit=71?

ol So] AHALS B 7 A7+ 12, ole U7k A EAE B
7F AZHe yRol2t shw

= Ajgto] £79) Aele Zona

20X = =30 x ~

60 60
X y 3
f=Lx=2%y .0
ofEo] ol KT 52 HA 2LPonz
x=y+5---@
@<= @ st
gy=y+5
1
Zy=




